AF=?
= % 3x%y + 6xy 9 Q15
=)

2+2
@3(x+2) ® x
@ %y

3x2
@ xy+2 ®

= x+2)
(A1) = 3x (xy + 2y) = 3xy (




2. AX*-24xy +16y* = (3x + By)? & ™, A + B 9] gt& F5tof=t

> E

> Hg:. A+B=5

&8

Ax? — 24xy + 16y = (3x + By)? o| B2
(3x+ By)? & AT AL Ax? - 24xy + 16y2 9} Zolo} Gk,
(3x + By)? = 9x + 6Bxy + B?y?
= Ax? - 24xy + 16y?
A =901, 6B=-24 0|22 B = —4 oJt},
w2 A+ B =9+ (—-4) =5 o|tt.




22 =24 ]=(x-[)?

® 3 @ 4 ® 5

@ 2

(x—1)2

‘ X2 -2x+1




82— 6xta=(x-b)? & NEL ), ab | S To}olel.

x? = 6x+a= (x—b)?
(x=3)? = (x—b)?

¥ —6x+9=(x—b)?
“a=9,b=3




‘ x2 —5x+6 = (x-2)(x-3)




se-1v) (54 2y) o4 xyel A

® -1 @0 ©)]! @ 2




e 2 o] g Hof Zoj7t x )1 Aol 170, 7tz o] Aot
1 o]a Az o] dol7t x o AAzrgel 8 7N, & "] dojrh1 <l
Aol 15 /H7F v ©o] =YER el AAaE ThE W,
7tz Zdolef Az dol o] A Fstofet. (B, 2 AolollM 22 ZolE
Tt

-
-
-
-

8
- -8
8
8

X2 +8x+15= (x+5)(x+3)
“(x+5)-(x+3)=2




8.

(x=2)(x+3) —4(x+3) S x JAF7H1L A F LAY Ho=
QR ol u, 5 A4l ghe?
@9 @ 2x+3 ® x+3
@)2x -3 ® 2(x-3)
(x=2)(x+3)-4(x+3)=(x+3)(x-2-4)
=(x+3)(x—-6)
o (x+3)+(x-6)=2x-3




85% — 1152 — 1622 + 2382 = Al4bstolzt
cCh "
| —

>
> =l 24400

B

(Z4]) = (85— 115) (85 + 115)
+ (238 — 162) (238 + 162)
= —30 x 200 + 76 x 400
= —6000 + 30400 = 24400




10. a-b=1,a*-bp>=4<d W, a+b 9 327

@1 @ 2 @ 3 @4 ® 5

a’*-b*=(a+b)a-b)=(a+b)x1=4
La+b=4




@ (2a+ 3b)(2a-b)

@(251 + 3b)(2a - 3D)
® (2a+ 9b)(2a - b)

@ (2a+ b)(2a - 3b)

@ (4a+ 3b)(a - 3b)

4a® — 9b* = (2a)? - (3b)? = (2a + 3b)(2a — 3b)




12, gL AWML A5Raste] $WL dL Aoleh. g 227

@® —6ax — 2bx = —6x(a + 2b)

@ ax®*+ay=a(x+y)

@ a(x+y)-b(x+y)=(x+y) —ab

@)-1 + 1692 = —4(x + 29)(x - 2)

® x(2a-b) +2y(2a - b) —z(2a - b) = (2a - b)(x - 2y) — z

B

@® —2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2)




13. o2 A Al x2-3x-18, 3x2+7x—6 ,2x2 +x—15 o] 52 A+E=?

@x+3 @ 3x-2 ® 2x-5
@ 2x+1 ® x-6

B )
x2 = 3x—18 = (x—6)(

3x2+T7x-6=(x+3)(3x-2)
2x2 + x-15= (2x - 5)(x + 3)
oehA] 52 e ( )o




14. Thg olxb40] G 47k -2 & 1], ThE 9 Q)

219
RO T B w

6x2—8x+m
D 2x-1 @ 2x+1 @3x—1
@ 3x+1 ® 4x-1

B

6x2 —8x +m = (2x — 2)(3x + k)
= 6x2 + (2k — 6)x — 2k
%—6=-8k=-1, 2=m=2 ot
6x2 —8x+2=2(3x-1)(2x-2)
webA oh2 @ Q14 3x— 1 olek.




@ (x-y-1)(x+y+6) @ (x-y+1)(x-y-6)
® (x+y+2)(x—y-3) @ (x-y-2)(x+y+3)
@) x-y-1(x-y+6)

B

x—y=r1r & o,

t(t+5) —6=1>+5t-6
=(t-1)(r+6)
=(x-y-1)(x-y+6)




16. (x+3y)? —4y*S A5E3|51H?

D (x-5y)(x-y) @ (x+2y)(x-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@) (x+59)(x +9)

(x+3y)% -4 = (x+ 3y)* - (2)?°|2=
x+3y=A, 2y =Bz olH
A?-B>=(A+B)(A-B)

= (x+ 3y + 2y)(x+ 3y —2y)

= (x+5y)(x +)




17.

X
[e]
'C?

=8
o =

o
e 7

+2)(x+4)(x+6) +16 = afish= Iolet. ()<t
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




18. oFg kAol AR WA @, Ol o148 BAL B7IoA
3o} el 2 AR A2

r+2xy+1y’—1
gl
=(x+y+1)(z+ y—l)j

)
W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)

@b, (+h @ (Wb, Oh ® (h, (h
@ (), (°h ® (7. (=

2 F2xy+y?-1
=(x+y)?-1 - da®>+2ab+b*>=(a+b)? ol &
=(@+y+)(+y-1) - (@®-b*) = (a+b)(a-D)




19, 22-49+ 14y—y2 0] x 9] A47H1 9 5 A4 o] Fo 2 14-Haj=

= (- 14y +49) =7 - (y-17)°
=@x+y-T(x-y+7)
S(xty-T+(x-y+7) =2x




20. x* - 2xy +y? - 98 ARSI x,y 9] Asot 44
T-otofet.

> E:

> Het: o

94

<

E?lﬂ

o

P -2y+y2-9=(x-y)?-3
=(x-y=-3)(x-y+3)
21-1-3+4+1-143=0




21. a=175 b=025% d, a® - 6ab + 9b? O] FS FSIH?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b* = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




2 2
22, x2—6ay+ 9% =0 1, % o] ZH29 (B, xy % 0)

@ @ ®1 @

wl o

®

Wl
[SCRIEN
Wl ot

B

¥ =6xy+92=0, (x=3y)>2=0 .. x=3y

"ol x = 3y2 s




23.

@ a+b+2 @ a-b+6
@a—i—b—i—G ® a-b+5

® a+b-6

B

a+b=ATt5H
A(A+1)-30=A42+A4-30
= (A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




24. —8-Ta(a-2)+a*(a-2)°=(a+A)(a+B)(a+C)(a+D) L
g, A+B+C+D & Fotoiet

[
H -

| 2
> met: 4

od -

= at)?
= (at—8) (ar+ 1)

= (a2—2a—8) (a2—2a+1)
=(a-4)(a+2)(a-1)°
=(a-4)(a+2)(a-1)(a—-1)

S A+B+C+D=(-4)+2+(-1)+(-1)=-4

a
a




(x=2) 2243 (x—-2) x—10 (x - 2) E JFEAHL o, T}-& F 2157}
g5 Qe g BT 12w?
H7]
Q@ x-2 © x+5 © x+2
® x-5 ® (x-2)° ® (x+5)
D Q@ 9,66 3)9,0, @
® Q0,66 ® oo

2
A

X — =
(£4)

A & 2| %stH

= Ax? + 3Ax — 10A

= A(x* 4+ 3x - 10)
=A(x+5)(x-2)

= (x=2)(x+5)(x-2)
= (x-2)%(x +5)




)
x+3)(x-3)(x+2)(x-2)
)

(x—-2)(x% + 3)

(x* —4)(x®* —1) — 40 = x* - 5x% — 36
— (2 -9)(x+4)
= (x+3)(x—3)(x* +4)




27.

a® — 6ab + 9b* — 36¢2 ©] QA%7} D % Qe AL

rr

@a—3b—6€ @ a+3b-6¢ ® a-6b-3c

@ a+6b-3c ® a+6b+3c

(a=3b)? - (6¢)? = (a—3b+ 6¢)(a—3b-60)




28.

O|ZFA] x2 — Bxy + 2y + 4x — 5y + 3 & AR FFATY (ax -y +
b)(x+cy—d) 7t FATk ©He F 2L AL TEW?
®a+b=3 @ b+c=2 @ c+d=1

@a+c:—1 ® b+d=-3

B

x4+ (4-3y)x+2y*-5y+3
=2+ (4-3)x+ (2y-3)(y-1)
=(x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3




29. b= T &A1 €2 A2

O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)




